FH295 S 4 ABRRERERRUIBHR]

[ FRER FRi295F 4 B (FER205F1 8238 ~FE/2941829H) )

TR29%1A31H

BH(E 4 @) RETCER29FF 1:8LK)
1 FERLEEE L ZL
2 AR 15 % 13
SFERRSE L ZL
AFERR L TUTER 144
s . SA s =Xy SEA Sk % e . Bl 13z 1] N 8 iy .
(SHINBAS) | BIERRMMEL YIREERE 14, 55 14 (BER) N o M-l deradids o iiShe HEREESAE T
BE 6 (RHIGEAE I 81 14 BEABARE I 88 144, |AE(R 444)
FLEATEAYLYEBERERDE I oI=KRFIE. DIUTILIY )RREMERL ARBSMMEL Y ERERER TLT -,
SHRRE | AVILIVTFDOERLYBEREHITA6. 88 ALATE (33. 28 N) M OEML, FIFLYFLL AL THBLTVET,
(ERIBEER) | BREMBBROERS-YBERENIS. OOANLFTE(6. 47 N) D OHEIEOT, HIELIVENLNLTHEBLTLET,
ABERIMML U EREREER DOE m AW EEREHI1. 81 ALBHAE(T. 53 AN)MIEML., FIFEHADLANIILTHRELTLET,
60 AVTIVIUFRERR (ER) ; ABEB ML S+ BREIREA % 4 R (35 R)
N — 6 FER274
£ |4 ER2TE A e 28
40 ’/ X‘x *-- 284 20 < X —o— 205
E T B JE \ K
& 30 X N | T FR29F & : *xX g L6 Y R X
| 20 / ’," ’K\X e ) x**, \ ,’/ 4 Xox I,'I“ '\x,' S A\‘
r ' o2 g XK ek Tk N
Y 10 (‘, * XX* XX* Y 4 x *xxxxxxxx' ¥ X %
~ 0 >KTX‘ Ly P X‘w**y%*\*\*\*\** ‘*x‘*‘x**‘*‘*‘***%*%X‘*%**LX.%X*TX —— ~ 0 Ly I I I R I I I | | I Ly
DTS SENSEERN S R R B e B S N e S S EE NS e SE e
18 ‘ 2H 3H 48 5H 6A 78 8A 9A 108 118 128 18 ‘ 2H 38 48 58 ‘ 68 78 8H 9H 108 118 128
%0 B BB R R ERR (SER) . FATHE M KIS 4 S 1R (B4ERR)
Rk v 35 k275
£ opark Fasl\ A 3 X x ¥ F28E X x
=20 e PR2eR xR £25 P Rl &= FH2E A
= —O—FHE | ¥ ) £ X PN Ak x F
m 15 7 \ B2 v X / LA o X XN AR 2RV 3
3 10 %5(*“~ KK *)SK X ‘;k %‘1'5 ] X y X ?"{ ;'Kx “\)8( "‘\ %KX-Y’X \X’
< 72 K S X7 S Z 1 ‘I‘ ] ‘.‘ Kogs N ,l X |‘ ,'l
ey AR SCHHR\ K KoK — Yol U ANE T2 X ¥ -
~ ~ L. X
—NevoeNeeorNeT e reg TR eRRaS T sen oo yo et neo T T S N P e e e
18 \ 28 38 4R 5B 6A 7B 88 9B 10A 11A 128 1B 2R 38 48 58 6B 7A 8B 9A 108 11A 128




BER- ERA-YBREBHR. FR. XA

£ENER Fai29%48 £518:FR29%F1H31H
T A TN RS ™7 A /b A JBEYSE I SE A N2 ABEERIAME L o ER T R EE 25 Y B G2 K

BLAEt A | ANy A | ANy A | ANy A | ANy Ak | ANy A | ANy
s 2,813 46. 88 3 0.08 4 0.11 65 1.81 180 5. 00 25 0.69
JII 538 67.25 - - - - 17 3.40 37 7. 40 0.20
E3 281 40. 14 - - - 3 0.75 6 1. 50 - -
R 232 25.78 - - 1 0.2 4 0.80 22 4. 40 1 0.20
=% 511 51.10 1 0.17 1 0.1 9 1. 50 33 5.50 12 2.00
=40 439 43.90 - - 1 0 15 2.50 38 6.33 - -
ZE 504 63. 00 2 0. 40 1 15 3.00 26 5.20 10 2.00
FRAE 308 38. 50 - - - 2 0. 40 18 3.60 1 0.20
fth- 785 - - - - - - - - - - -
JINg v FE O R PERTEE TEFNMETIE ELELZ AR X —F VAT F TR

B &t A | EANeY A | ANy MR | ANy A | ANy MR | ANy MR | ANy
s 1 0.03 3 0.08 20 0.56 - - - - 34 0.94
JIIi 1 0.20 1 0.20 2 0. 40 - - - - 12 2. 40
£ - - - - - - - - - - 2 0.50
R - - 2 0. 40 1 0.20 - - - - -
(=3 - - - - 6 1. 00 - - - - 11 1.83
=50 - - - - 4 0.67 - - - - 7 1.17
ZE - - - - 6 1. 20 - - - - 1 0. 20
FRAE - - - - 1 0.20 - - - - 1 0.20
{th - A~BF - - - - - — - - - - - -
JIg v A AR A VAT A AR

Bu At A | ey A | EAMEY
% - - 14 1.56
i - - - -
$ _ _ _ _
R - - - -
=53 - - 2 2.00
=50 - - 6 3.00
ZE - - - -
FRAE - - 6 6. 00
fth- 789 - - - -

v U P B A I VBRI ~A a7 X=filifk I3 T ROMRIEERL) [ REEBRR (@ Z A VR) (1 T7rzesd (AEF—f T 2)
BLAEt A | ANy A | ANy A | ANy MR | ANy A | ANy A | ANy
® - - - - - - - - - - 12 6. 00
JIi - - - - - - - - - - 11 11.00

£

R

(=53

=50 - - - - - - - - - - 1 1. 00
ZE

FRAE

fth- B3




BEH-ERA-YRER, KH. Xl

SR FR20E4E SETR - TR29F1A31H
ATV IVYES 53 ~571mA ~11M»H 1% 2 5% 3 7% 475 5 5% 6 7% 7% S
A TNz W TR 2,813 6 24 86 99 132 188 187 207 213 206
T 46. 88 0. 10 0. 40 1.43 1.65 2.20 3.13 3.12 3.45 3.55 3.43
INBRIE S GiF  ~50H ~1 1/ 1 5% 2 % 3 I 4 7% 5 I 6 I 7 % 8 1%
R S 7 A )L ARG E TR 3 2 - 1 - - - - - - -
R 0. 08 0. 06 - 0.03 - - - - - - -
NIF B A eI 4 - - 2 1 - - - 1 - -
ERY T 0.11 - - 0. 06 0.03 - - - 0.03 - -
ARRRMIMAE L Y ERBENRER 2 K 65 - - 1 3 6 11 11 3 13 7
R 1.81 - - 0.03 0. 08 0.17 0.31 0.31 0. 08 0.36 0.19
TG EE AR % brdeit 180 1 5 26 15 26 17 18 12 14 6
R 5. 00 0.03 0.14 0.72 0. 42 0.72 0.47 0. 50 0.33 0.39 0.17
IR B 25 - - - 2 2 5 2 11 2 -
YT 0. 69 - - - 0. 06 0. 06 0.14 0.06 0.31 0. 06 -
TR A s 1 - - - 1 - - - - - -
R 0.03 - - - 0.03 - - - - - -
{EYEALTE PR 3 - - 1 - - - - - 2 -
R 0. 08 - - 0.03 - - - - - 0. 06 -
RIENMEI TS Tk 20 - 4 15 1 - - - - - -
R 0.56 - 0.11 0.42 0.03 - - - - - -
£ H % s - - - - - - - - - - -
) - - - - - - - - - - -
S F =T s - - - - - - - - - - -
AT D - - - - - - - - - - -
TRATYEE T HRZE e FRRC 34 - - - - 1 1 2 6 7 6
ER T2 0. 94 - - - - 0.03 0.03 0. 06 0.17 0.19 0.17
RREES o ~ 57 H ~1 1M»H 1 2 Ik 3 Ik 4 5% 5 1% 6 % 7 5% 8 7%
S i PERR R T - - - - - - - - - - -
ARG - - - - - - - - - - -
TEAT M A G % £ 14 - - - 1 - - 1 1 - 1
T 1.56 - - - 0.11 - - 0.11 0.11 - 0.11
H&ER o ~5/mH  ~1 1 1 7% 2 % 3 5% 4 7% 5 5% 6 5% 7 % 8 ik
A BB S K - - - - - - - - - - -
ERST= - - - - - - - - - - -
T ME R S K - - - - - - - - - - -
A7 0 - - - - - - - - - - -
~A 27T X fili%k e - - - - - - - - - - -
) - - - - - - - - - - -
77 IVT MR (AU LIEIEERLS) K - - - - - - - - - - -
A7 D - - - - - - - - - - -
BEREEBR (v X T A L R) K - - - - - - - - - - -
) - - - - - - - - - - -
A TN (ABEY—_A T R) R 12 1 - - 1 - - - 1 - -
R 6. 00 0. 50 - - 0. 50 - - - 0. 50 - -




BEB-ERA-YREH, &H. X3
SRR FR29F4E

£5t8  FER29F1831H

AUTILIVHES 0% 105~ 144% 15K~ 195% 20p~295% 30M&~39n% A0RE~49%% b5Om~50i% 60 ~69m 70RE~79%  80m%LLE
P TR 164 501 132 109 175 175 100 60 36 13
ERYTZY 2.73 8.35 2.20 1.82 2.92 2.92 1.67 1. 00 0. 60 0.22
INBRLTE R 9% 10mE~14%%  15m~195% 2075 LA |
R S U A L R EYLSE TR - - - -
e =t—brall)) - - - -
NIF B A FRBEL - - - -
== brall)) - - - -
ABRRIIYE L > S EREE HER A B 2 4 2 2
ERYTZY 0. 06 0.11 0. 06 0. 06
PR i=l B 8 13 1 18
ERYTZY 0.22 0.36 0.03 0.50
IKIE TR 1 - - -
E R0 0.03 - - -
F RN T - - - -
ERYTZY - - - -
{RY AL BT TR - - - -
e =t—brall)) - - - -
RN B FRBE - - - -
ERYTZY - - - -
EREA TR - - - -
et brall)) - - - -
AV ZaVE s FRBE - - - -
ERYTZY - - - -
TEATVEE TRRAK TR 6 4 - 1
=== b)) 0.17 0.11 - 0.03
BRELE = 9% 10A~145%  15m~197% 20/~297% 30m~39m% 40m~497% 50m~59%% 60 ~697% 7058 0L I
2P P R R % e BEk - - - - - - - - -
EmEn - - - - - _ _ _ _
TRATVE A AR TR - 2 - - 1 3 3 - 1
ERYTZY - 0.22 - - 0.11 0.33 0.33 - 0.11
HEFES 95 105~ 14%% 158~ 195% 20M~20%% 30R5~39n% A0RE~49%% bHO0m~50mE 60RE~69% 70RE~79%  80mELlL L
R P B FRBE - - - - - - - - - -
E R0 - - - - - - - - - -
e PE BB % FRBEL - - - - - - - - - -
ERYTZY - - - - - - - - - -
~A 27T A=k B - - - - - - - - - -
e =t—brall)) - - - - - - - - - -
7 I UTMME (AU LIEIFERLS) B - - - - - - - - - -
ERYTZY - - - - - - - - - -
YPEE R (v X 7oA LR) B - - - - - - - - - -
e =t—prall)] - - - - - - - - - -
A TNV (AR —_A T R) REEK - - - - - - - 1 3 5
== ball)] - - - - - - - 0.50 1.50 2.50




BEH-ERAYBREH. KR, XA

EEHHR FR29F48 £EtH: Fk295 18318
At 5 3@ fif 4 JE R 3 I iy 2 I i 1 R P

A 7T R FRK 7,745 740 597 613 988 1,994 2,813

TERL T2 21.57 12. 33 9.95 10. 22 16. 75 33.23 46. 88

R S 7 A )L A KYLIE TR 36 7 4 6 8 8 3

TERL T2 0.17 0.19 0.11 0.17 0.23 0.22 0.08

MR BRI e ER B 51 13 15 9 6 4 4

TERL T2 0.24 0. 36 0. 42 0.25 0.17 0.11 0.11

ARERIIMAE U o P EREE HEE S TR RS 308 71 42 28 47 55 65

ERL T2 1.43 1.97 1.17 0.78 1.34 1.53 1.81

TG W% TR ERS 1,818 694 346 167 198 233 180

ERL T2 8. 46 19. 28 9.61 4. 64 5. 66 6. 47 5. 00

K TR 137 37 23 29 10 13 25

ERL T2 0.64 1.03 0.64 0.81 0.29 0. 36 0. 69

FROE TR 40 20 12 5 2 - 1

TERL T2 0.19 0. 56 0.33 0.14 0. 06 - 0.03

R PERT BT TR ER S 14 1 2 3 2 3 3

ERL T2 0.07 0.03 0.06 0.08 0. 06 0. 08 0.08

ZEIENERE B TR ER S 107 23 12 13 23 16 20

TERL T2 0. 50 0. 64 0.33 0. 36 0. 66 0. 44 0.56

HHE i3 %x - - - - - - -
ERYET= - - - - - - -

NIV =T e 3 3 - - - - -
TEMY 720 0.01 0. 08 - - - - -

TRATHEH T ARE TR RS 242 39 43 50 50 26 34

ERL T2 1.13 1.08 1. 19 1.39 1.43 0.72 0.94

A H i AR A TR - - - - - - -
ERYTZD - - - - - - -

TEAT MM AR TR RS 108 25 22 9 18 20 14

ERL T2 2.04 2.78 2.75 1. 00 2.00 2.22 1.56

A PR RS e TR 1 - - - 1 - -
TERL T2 0.08 - - - 0. 50 - -

A PR AR TR 1 - - - 1 - -
ERL T2 0.08 - - - 0. 50 - -

<A aS T X<k e ER B 4 - - - 2 2 -
TERL T2 0.33 - - - 1. 00 1. 00 -

7 7 IVT MR (7 A9EIEERL) R - - - - - - -
ERYET - - - - - - -

YRR (rX A ILR) TR - - - - - - -
ERYETZD - - - - - - -

A TN (AR —_A T R) BB 47 6 8 5 11 5 12

TE AT 3.92 3. 00 4. 00 2. 50 5. 50 2. 50 6. 00




